[ Efficiency vs vertpos |
~ 0.05

YT SRS R S -

4 3 : : :
>\0.04':_"""""3 """""" :' """""" E""
(8] F . . .
©.035F -+ ereieens R
3] E : : :
£ 0.03F-eeveerdenneneenen: TR & .

0.02

0,025 - t i

0.015

Jig

0.01 At
0.005
O J--\G II! 1 1
° :
g TE (44

1
1H- b1 g At -4
I

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100

—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

Efficiend —e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
1

-

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
> S W

00.045F -+ preyees AR FeR AR
S : : : : :
o A I
2.035F -+ Proreresdenenoes AR Ty AARERREY
P b : : : : :

c0.03
@

8.025

©
0.02
0.015

0.005 R 0k S

10
1.1

Ratio

iy

[nnnnnnnsnrunnnnnnnn;

0.9
08

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


